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1 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
Zh Lt 1.00| 000 ~ 6.46 8137 | ZnLlust | 000 ~ 646 | 1.84 9.31 Zh Lt 100 500 ~ 7.80 8137 | #hbLlst | 500 ~ 7.80| 1.84 9.31
2 100kN/M##Z % 1.00| 000 ~ 0.16 102.28 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 (1069 ~ 11.10 102.28 |3mZE#BZ 5 -~ - - -
Zh Lt 100 016 ~ 794 100.00 | ZHLA4t | 000 ~ 7.94| 2.28 11.53 Zh Lt 1.00| 500 ~ 10.69 100.00 | ZHLlA%+ | 500 ~ 1110 | 2.28 11.53
3 100kN/M##Z % 1.00| 000 ~ 0.16 102.28 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 (1069 ~ 11.10 102.28 |3mZE#BZ 5 -~ - - -
Zh Lt 100 016 ~ 794 10000 | ZhbLlst | 000 ~ 794 | 1.85 9.34 Zh Lt 1.00| 500 ~ 10.69 10000 | ZhbLlst | 500 ~ 1110 | 1.85 9.34
4 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
Zh Lt 1.00| 000 ~ 7.61 9752 | #hbilst | 000 ~ 000 | 1.77 8.95 Zh Lt 1.00| 500 ~ 10.10 9752 | #h iyt | 500 ~ 10.10 | 1.77 8.95
5 100kN/M##Z % 1.00| 000 ~ 0.46 106.82 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 (1053 ~ 11.80 106.82 |3mZE#BZ 5 -~ - - -
Zh Lt 100 | 046 ~ 8.25 100.00 | ZHLA4+ | 000 ~ 8.25| 2.19 11.07 Zh Lt 100 | 500 ~ 10.53 100.00 | ZHLLA4t | 500 ~ 1180 | 2.19 11.07
6 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 5.86 7330 | #hilst | 000 ~ 000 1.72 8.68 zh s 100 | 500 ~ 6.60 7330 | #hblst | 500 ~ 6.60 | 1.72 8.68
7 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/mM%E#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s - -~ - —| Zhs -~ — - - zh s — -~ - —| Zhs -~ — - -
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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